| Efficiency vs Dxy |

.02
<
o
®»018
>

@016

Q) -
@014

eff

0.012

0.01

0.008
0.006

0.004F

0.002

o

Rati

TRV

0.95

........................................................................

........................................................................

S ET50-15-10 =5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_mkFit_baseline_lowPT

| Efficiency vs Dz |

nND.02
S

—— DQM_mkFit_baseline6iter_lowPT

11 1 1 11 1 1 11 1_1 1 11 1 1 11 1 11 1 1
A LEEEE R EER T o] o0 000 L P PR
L ool |9

30 20 -10 0 10 20 30

TP dz (cm)




	Contents
	Page 1


